
A part of the Function Generator is shown in the figure, if we want to adjust its output 
frequency to 90 kH1. we had to: 
(1 .5 Points) 

__,,.,.Frequmcy 
Knob 

~ t ~ 100\ button 1ne11 ro!•t• 1he treque,iq, ~~ob 

Pren the I 101: bi.:ton !~tr ro•a· lh~ f ~wfMC/ knob 

Pr the 1')0 bl.tton tlltn f.l!Jtt lht lrEqU~~ l:~ob 

Nada

Nada

Nada



II 

Nada



• 
A student connects lhe followlng circuit w,tt- 1hree cui1ent sources (11 = 3 A. 12 = 4 A and 13 = 
6 A) and he addt>d two Ammeters (A 1 and A2) and one 11ollmeter M-
The reading of the ammeter A2 ( in A ) will be J:: 
(2 Po,nls) 

260 50 1' I-, -

50 
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■ • BLACK: 0 • GRUN s 
• BROWN• 1 • BUI£ • 
• A£0l 2 • V10Ul 1 

• ORANGE: J • GREYl I 

• rt:lLOW JI • WlUre , 

Use tho IOI mng Iii c 10 CIIICUIU11! Ille va ue of llli! r ISt0f 
Red and Silver wn1lc I/le S,t-. £?r C:OIOf r. pre na 1 ~~mnc:e. 
ahe max11T1um va uo of u,e rt!Sl51or will l>C 

2 POCJ15 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



device. the knob that determines number of the displayed signal cvclM'l 

Nada

Nada

Nada

Nada

Nada

Nada



sv sv 
.q a a 

3 V ♦ 

LO-o b b 

1V IV 

1-a 

■ 
[r. The Circuit Ula1 91 ,r, Vab ~ 9V is 

sv 

IV 

l<I 

a 

b 

fihi.i I 5) 

sv 
0 

... 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



v. 

I I 
R1 R6 R2 R4 

RS 

■ 
Is the shown circuit built correctly? 
(2 Poin'ts) 

• Yes 

• • • • • R3 • 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



ng Norton's theorems to a circuit yields to: Qj;i 
(1 Point) 

equivalent voltage source and a resistor in senes 

• equivalent current source and 3 resistor 1n para! e 

equiv.ilent current sourc€': and a resistor n s1mes 

equ valent vol13ge sourci: and a resistor r, ca al ~, 

Nada

Nada

Nada

Nada

Nada

Nada



m u,e the voltage a aos~an element ir1 any circuit 
(2Fuints) 

Q '!Du tlO'i!d a~ connected.in u,,e5w,1h the elemenl 

0 Yau - an - mm,;;dl!d ITT par~llel wtlh 1~ element 

:) OU~ a voltme:.:r-conneaed tn parallel w11,h the C'lemer,, 

C l'::u r,eec!,in .,..,meiermnnected 1n SEnsw,!h th4! eh,ment 

■ 
A 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



The circuit shown below is ,xperimentally conducted by applying lhe SUJ>"J>OSltlon methad 
where the results are presented in the 1.ibll' as shown (,n ampere) A«ord,ngly please MIS.M 

Vs 

R1 

-/1 
+ 

VIG Yd 

[:;-;. 

m . 
The total absorbed power by R1 == 390 ohm (in kWatt) is: 

(2 Points) 

Due to Vs 
onty 

11 8.19 

12 2.62 

13 5.57 

Due to Yd 
only 

4.49 

-4.01 

8.5 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



-
The t~tal absorbed Power by Rl 
(2 Points) 390 ohm (1n kw.tq 

62705 

II 
The voltage drop on R3 : 40 ohm On volt) due to both supplies 
(2 Points) 

1 562.8 

II h and R3 : 30 ohm. then the value of the 
IF R1 = 7 ohm, R4 = 8 o ~ 

ncfor ic~ 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada
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• 

I( 

n 

I 

l Bl .. ... .. 

• 

• • 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



• True 

(i) f~lse 

011 . 
tt) 

Can't bi! determined 

The phase angle (in degree) between the two signals ,s 
Points) 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



• 

■ 
To n-easurr I he curent paum9 u,rough an e!e ent II llT'y cir wt 
12 Points 

1 I • 

Nada

Nada



ffl • E; I 

2 Po l\t5 

40 

40 

40 

40 

Ii "19 cirru.t. the i'h~e111n resistance betr~n A ard 8 (in ohm) IS [.'r 

I , 

A 

40 

e 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



■ For the drtUit shown. Ir the rMistor R=(Orange. Violel Brown. Brown, Silver). then the 
equivalent resistance (in ohm) between the terminals a and b is Ognore the tolerance): 
(2 Points) 

n 
Blad: 0 Blue t., It 

Brown 1 Viok!t 7 

Red 2 Grrv 8 

Oranee 3 Whlta g 1000 < l 
VelJow • Gold .tS" 
Green 5 Sdver :lOJt. b 

ll 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



■ 
A pllrt of tho funrt1<111 Gu1w1,1tor ,,. \hnwn 111 ltw I 1q111t• II we wanl lo ,1djust ii~ oulpul 

frl>tl1K'11<y to 9 kl 1,. w1• lt.1tl Iii 

(l.5 Point~) 

I f I 1-i 
' I I I I I 

fl0i!O 
• • 

P Uie 

Frequency 
Knob 

• ' the- I Q\it'f'IC 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



■ 
l~n the oscd1asc0pe0 the v0lt.1d1v knob con tr.els: 
(1 .S Potnts) 

Th n1Jtnber of lime fm eech hc:uheontof d1ulsfon on the sc c n 

Th -num • af t1nie eiJ~h vt1ruc.al dlv~ l 11 an im: 

for ad, 0 n 1 ~a, drvt i n on • sa 

a I ha1 aon!tdl d1, o ~ ee.r1 

- - --

1 

0 f -I Nt»tt 
I -

Nada

Nada

Nada



The correcl connecliorn and reading in 
lhe following Figur1e i1s: 
(1 &5 IPainls) 

6.D 

Q A 

Q B, 

Q c 

(i) 

0 N1one is cairrecl 

m 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



a - l li + I ll2 
/~1 R2 

Vs + 
l'.., 

L 

Replanng the .ipac1or C (m the c,rcv sno n n xt, di Q t · I 
2 Po nts 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



II 
A st\Jdent connected the circuit ~hown and he mc~sured t~ r~stof Y0ltagft 
them In the shown table (in volt), but accidentally he wrote one of the rodifl!~ .,""'~ 
wrong voltage (V1 or V2 or V3) is 
(2 Points) 

Vl 
- + 

JO 0. 10n 
Vl V2 V3 

10 - 20 -10 100 

V3 

Nada



• lti ll run 1 

,ii I l 

■ 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



6. In a series RC cimuit 12 V(rms) is measuf7ed 
across the resistor aind 15 V(rms) is measured 
across lhe source vcllage. the capac,itcr peak 
voltage (in vol~) 1is: 
(1 .5 Paints) 

0 9 
-

IJ ... - • "' : ,., : 12',.73 I ....... _. 
---

0 26 

Q None of .above 

< ) 

Nada



II 
,A stu1dent wrote the Nodal equation at 

node ( b ) for the circu1it shown h1eire 

(as shown belo1w it),, the missing term 

in the box js: 

(1 Point) 

v,, 
R2 

14 

Q (Vb+ V2) I R3 

• (Vb+ V1) / R4 

R2 -

- 13 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



■ 
F1mr the f0Uowi1ng ciircuH. the e,quivalent 

• resistance ( in 1ohm) is 
(u,i-i 1) 

,. 1 ... 111111111111111111111111111111 ..... 111111111111111111 

3 Q 

4 Q 

s n 

1.16 0 

2.16 0 

3.75 0 

None of the ,above 0 
[[] > 

Nada

Nada

Nada

Nada

Nada

Nada

Nada



II 

1 

• 



The voltage (V) on the 4 ohm resistor (in voll) is: Cl; 
(2 Points) 

2 il 

6 \ \ 

I 17 

1 11 8 1J 

·--------

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



II 
To find the Norton resistor of a circuit. we had to short all the current sources 
voltage sources. (f."' 
(1 .sTPoints) 

True 

False 

Back Pag~ 7 ol 9 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



7. If the value of Rina series RLC circuit is 
increased, then the resonant frequency will: 
(1 .5 Points) 

0 Increases 

0 decreases 

0 be reduced to zero 

• not affected 

8. If the resistance value is doubled in a series RL 
circuit, then the magnitude of the total impedance of 
a circuit will: 
(1 .5 Points) 

...... 
: • : increased ...... , 

0 decreased 

0 fixed 

0 Can't be determined without valuse 

Nada

Nada

Nada

Nada

Nada

Nada



• 
far Uu .shO\•m f mu;lirm gt":flC!Jolot,. If )'OU \\l.ilr d ta 9J!lli!@te o scii.rnrc Wavl Wllh 1r.oo H1 wh th 
bLIIINlS you, hti\'e ID ,uesc.'1 

--i, Rom( ii 

t'IJ "-

,A B 

-
• fp 

• f 

Nada

Nada

Nada

Nada



IC I -• qr -

for the shown series RC circuit, the source frequency is 150 Hz. R= 2000 ohrn and the phase 
angle of the total impedance is ( -75) degree. rne capacitor C value is: 
(2 Points) 

Q l4.22nf 

Q l..422nF 

Nont 01 !."le .abow~ 

l-l2.2 rn1croF 

• 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



According lo the shown phasor diagram or a parallel RL cirCUJI . the symbol~ X. Vand z refer 
to: W 
(2 Points) 

0 Non.. of thf ibc7,~ 

0 X r.; fo, sourcE> CUl'R"l Y 11 far........,, cu11en1 llfld Z 1s tor IM ,!lductor cu"""' 

Q X tS f0< te:s;zst:Of current V G for sou,ce ctmem and Z ls to• the 1..,ductor o.men1 

') X ts '°' ,rmucior current YIS tor res1~0r c1.1rrent and Z IS for 1,,. sou,a cu11ent 

0 XI• for r<'!S"tor eutttnl Yb ror '"duct~• <~lre1'l ano Z •loll~"..,..,,. cunent 

• X IS for source ct.~L y IS for ol'ldue".or curr,nt Ind z IS IC, thf.. •.or CU!fftll 

'.( !\ io, "'l<fl~n, ft.irrFr.1.. VI~ fo, iOUtU (Li{Ttt\: •nd z ., for tho:- re foro.n- ~ 

v. 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



■ 
For a series Rl circuit • CU 
(} Points) 

0 No"" of1he aboYr 

O h OOW'fl' Ge.tor c. eQIJ~) OM 

0 the ,ndu<tor ,ml>t'<Wnc• ,, low at lt;glt ftl!(!uencw,s 

~ IM! JOUrr~ CUlll'/11 IJ h,gh al kM l\1!qlll!ncin 

Nada

Nada

Nada



-
In the case of a parallel RC circuit. the source current __ !he sourtevoltagt. 
(2 Points) 

re leads 

N Mcflh I' 

Nada

Nada

Nada

Nada



-
If lbe,dlc,de f:.worktnD W(l'U wh hof I~ fo owmg rep, nT OJf rc:ldi"'I) 
(Ao, Do, CJ 

(2. 11CI nl11 

I .s~ ·] I ¥ 

.OL .550 
Iii ~ 

~ i • 
V u _. 

or.r 01'1 0-" 
• IV It V 

~ c;oM ftA iC..CM c,-

(Al rn, (Cl 

Nada

Nada

Nada

Nada

Nada

Nada

Nada



~ SllpPly voltage with 4 Vrms is input to a Full WlNe Rectifier circuit. then the output 
rectified voltage will be ( all diodes voltage have Vy = 0.7 V): cg 
(2 Points) 

Q 3.JV 

ie Noneofu,eabove 

Q LC3V 

Q 2.82V 

Q 2.BV 

Q 1..6V 

4l6V 

Nada

Nada



• 

Tht' >Cl.jllOi A l 
1 Pon• 

Ip!, O 



could achieve the signal B by: 
(1Point) 

0 co11nec1,ng a resistor on the output 

(! I connectmg a apac,tor on the output 

0 rl'IT'lov,ng a capacitor from the output 

0 add a diode 

Q removing a resistor fron, the output 

0 iidd an 1nauc1or 

r add pott!nuometi,r 



■ 
If the frequency of the input waveform signal is 100 I 11. then the frequency of the signal A is: 
(l Point) 

0 un'I be determined because ll 15 not slnuso,dal 

e 100 Hz 

Q SOHz 

Q 200Hz 

0 

Nont'of theso 

Nada



Accofding l o the figure shown betow, whicti statement is true: 
(2 Polnls) 

a b € - 1'3. lh l ,, I 
R3 R1. R1 

Vs v. Assume Vs is DC C L power supply 

R3=2Rl=4R2 

8ott, "and C .,. (OH«! 

C l!aO 

D one fourth of _ 

e d t,e. • _ 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



Nada



I 

\ r lof I llwl!Nc• \ r ir 

l r 1k lll)J CV 'I q (1n V Ir) I 
II with 1 fol r 

• 

n nth II w g 

Nada



' . ' t • ' • 1 • " • .,,. • > .t ... 
I , 1' , • . . ' ,_,, 

• - I .. -

seril?'i RC impedance 111aeas.es and parallel RC impedance decreases 

sr-rle<; RC IITifl<.we (IPCH!i19PS aricl paralll'I RC ,mpedana! ,r,ae 

both !,C'ncs and parallel RC ,m1wdance 1nc11N1se 

N ne of tl es!? 

1 h "' nnd pa alle ,n,pedance d ease 

Nada



~ and mnnect CH2 aaoss C 

'V ¥d mnnea CH2 across R 

be added and connect CH2 parallel to 1t while 

C 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



■ You are asked to connect the tollowing circuit in the lab. to connect It correctly: ['Q 

(1 Point) 

1r I~ 



i and 3 are ammeters. Devices! and 4 are voltmeters 

M::es l and 4 are ammeters, Devices 2 and 3 are voltmeters 

2 and 4 are ammeters Devices 1 and 3 are voltmeters 

Nada

Nada

Nada



■ 
For a parallel R-L circuit, the correct statement is: [Q 
(2 Points) 

Vs lag I 

~ source frequency decrease, R \VIII decrease 

.~ source frequency mcreas€: XL decrease 

Jorie o· thes: 

c E.: -= E nd _ 

Nada

Nada



■ 
For R-L-C parallel circuit. which is t11e c9He<;ii statement: 

• I 

(2 Points} 

.. 
I 

.4. / !I =. (I. - IL)+ IR 

B. I =(Ir. -!(' )+JR 

C.J =(IR-[L)+ IC' 

D. l , =(lC' -IR)+ ll 

E. A and B are correct 

Nada

Nada



■ 
The correct mesh equati0n for mesh 2 is: Q:,i 
(1.5 Points) 

Q Vl • V3 = 11 (R2 + R4) -(12) (R4) - (13) (R2) 

t@J -V2 = 12 (R3 + R4) - (13) (R~ (11) (R4) 

Q V2 = 12 (R3 ~ R4) - (13) (R3) • (11) (R4) 

'\ V3 -. 13 \R2 - R3 t Rl) - Ill ) (R2J - (12) (R3) 

., 

u 

~ u 

~ + 
•• .=.n 

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada

Nada



\ IJ 

Nada
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